Integral Calculus - U-substitution with logs & exp functions December 05, 2016
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/ Integral Calculus Test #1 Name:. KE Y
Brewer . 30 November 2016

Part I - Print the letter of the correct answer choice in the blank provided.
YOU MUST SHOW ALL OF YOUR WORK IN ORDER TO EARN FULL CREDIT.

1. d

Use differentials to approximate the value of 3/7.5. Round your answer to four decimal places.  £¢ x) = Xx
Ae [) . 1/
Flctax) fCe)+ Fil)Ax Fitx) = '3Lx o

a. 1.9683
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Find the indefinite integral and check the result by differentiation.

o182 f(327™ « 42702182 7 )dn

-F2 -2z %rLa? FC

7.2 6
a. —j+j+—~;
3.2 .+ 8 Fow T %’ B Yl o § -
b ‘T"j"’jU 2 2
D v
7 4 18 7
¢ —+5+5+C
2
~ 6+C

[R)
1

o
ERES]
. |
rd
+

3. b

Find the indefinite integral j Ssmy+7cosx dy.
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4. __g.‘L . s° - 5 Vo = ﬁs
A ball is thrown vertically upwards from a height of 5 ft with an initial velocity of 45 ft per second. How high
will the ball go? Note that the acceleration of the ball is given by a(7) = —32 feet per second per second.

S1=7 wher vt =0 a(t) =-32
a. 99.0219 fr ‘
b. 89.9219 fi V(&) = -33¢ +4S

T 36.6406 fr S(E)z —je s
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e. 102.9219ft
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Use the summation formulas to rewrite the expression Z ——— without the summation notation.
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6. &.

n 3 )
Use the summation formulas to rewrite the expression Z Bl _—_d without the summation notation.
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8. _C.

Sketch the region whose area is given by the definite integral and then use a geometric formula to evaluate the

integral.
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Write the limit  lm Z 5 c,—(é —¢;) Av;. as a definite integral on the interval [0.4] where ¢; s any point
|Ax] 2 0;=1

in the i™ subinterval.
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b. J‘

Sci(6—-c,~v‘):m'j

0
e. “ sv2(6 —.\‘}40’,\‘



10. E
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Part I - Use the graph to determine the definite integrals. Assume the scale for the graph is 1 to 1.
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